m 116 /Ordering NO.

VLE-01, 02, 03, 04, 05, 06, 07, 08

> B RE ORIE S A&

S ONCERIF
> MESE, 2R

D> b AT PR IS T

> LRI, ARk,

4 - N - V12 - M — S
@ @ ® @ ®
DAY O EERTHAREIG) /Capacity 2 ¥ J5i/Material
01 389 Ni/min (0.25 KW) N NBR
02 647 N¢/min (0.5 KW) i VITON
03 800  Ni/min (0.75 KW) E EPDM
04 1100 Ng/min (1.0 KW) S SILICON
05 1200 N{/min (1. 25 KW)
06 1380 Nf/min (1.5 KW) (3) 54 /Vacuum Port®
07 1490 N{/min (1. 75 KW) V12 PR 1/2
08 1580 N{/min (2.0 Kw) vV 34 PF 3/4
(4) B35 ®/Air-Supply Control Valve ) BRI PR /4 (B
Xic5 x
M1 DC 12V (5) BRI E /Vacuum Release Control Valve
e DC 24¥ Fid = %
3 AC 110V R1 DC 12V
M4 AC 220V R2 0C 24V
b JWHE/Specification R3 AC 110V
WA 0.17 0.7 MPa i AC 2207
)5 NYLON, AL
TR 0~ 600 (6) HAZ &M #%/Vacuum Sensor
A Clean Air il x
RNHZE -92 kPa S NPN @2 77)
e 25 50 ~ 65 dBA PS PNP (2 HH 77)




m PEREFR /Characteristics

VLE 01

VLE 02

VLE 03

VLE 04

VLE 05

VLE 06

VLE 07

VLE 08

TN

~kPa (-mmflg)

-92
(-690)

VLE-01, 02, 03, 04, 05, 06, 07, 08

I i
(N /min) (dBA)
389 78 108 50 ~ 60 620 > 6 > 12 > 12
647 150 ~ 210 50 ~ 60 622 > 8 > 15 > 15
890 228 ~ 318 55 7 65 794 > 10 > 19 > 22
1100 300 ™ 420 55~ 65 795 > 10 > 19 > 22
1200 378 528 60 ~ 65 936 >10 | > 25 > 32
1380 450 ~ 630 60 ~ 65 947 > 10 > 25 > 32
1490 528 ~ 738 60 ~ 65 1148 > 10 > 32 > 40
1580 600 ~ 840 60 ~ 65 1150 > 10 > 32 > 40

) HFERIEE A 20 LA A K SRR A R

(~mmHg)
0

(-kPa)
VLE 01 389 220 147 74 37 27 18 10 5 0.8
VLE 02 647 400 279 146 73 54 36 20 10 1.6
VLE 03 890 600 366 220 110 82 54 30 15 2.4
VLE 04 1100 750 453 291 146 109 T2 40 20 3.2
VLE 05 1200 900 530 356 182 135 90 50 25 4
VLE 06 1380 1020 579 416 218 162 108 60 30 4.8
VLE 07 1490 1120 654 471 254 189 126 70 35 5.6
VLE 08 1580 1200 701 521 290 216 144 80 40 6.4

17



18

m VLE Series #MEJR~)/Dimensions

AL HAL L

PF1/4 (PF1/2 or PF3/4) FF 3/4

aw Gave va exaausT,
o
Max 7o FTELC

Vacuum Pump

| }

4G

c@UJolLJol___JoUJstTe~

ExHAusT

VLE-01, 02,

N
PF1/2 or PF3/4

03, 04, 05, 06, 07, 08

(mm)

MODEL A B C D I If G H
VLE 01-N-V12/V34-M4-R4 194 64 45 161 107 53 M5x0. 8 185
VLE 02-N-V12/V34-M4-R4 194 64 45 161 107 93 M5x0. 8 185
VLE 03-N-V12/V34-M4-R4 194 64 66 182 107 53 M5x0. 8 206
VLE 04-N-V12/V34-M4-R4 194 64 66 182 107 53 M5x0. 8 206
VLE 05-N-V12/V34-M4-R4 194 64 87 203 107 53 M5x0. 8 221
VLE 06-N-V12/V34-M4-R4 194 64 87 203 107 53 M5x0. 8 221
VLE 07-N-V12/V34-M4-R4 194 64 108 224 107 53 Mbx0. 8 248
VLE 08-N-V12/V34-M4-R4 194 64 108 224 107 53 M5x0. 8 248






